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A student bought two story books at
$30 and $70 respectively. He sold the
first book at a profit of 20% and the
second book at a loss of 10%. Find the
percentage of the overall loss.
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Given that 7 is a positive integer,
if x +x ' =2, find the value of x" + x".
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Given that m is a constant, find x if
{mx —m=26

X+x+l=m
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Find the maximum value of 4 if
A=l+n+n"+n’+ ...,
for 0.25<n <0.75.

Find the unit digit of 2008™ + 2009
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E and F are the mid-points of 4B and AC
respectively. G and H divide DB and DC
respectively in the ratio 1 : 3. Suppose
EF =12, find GH. A

Given
@+ D+ DR+ nE*+ =21

where 7 is a positive integer, find k.
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In the diagram, the inscribed circle of
AOPQ touches PQ at R.
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ABCD is a line segment in which
AB:BC:CD=3:2:1.
A=(4,5),D=(10,11), C=(p, 10),
find p.
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Ten litres of a mixture contain 60% of
alcohol and 40% of water by volume.
How many litres of water should be
added so that the resulting mixture
contains 30% of alcohol by volume?
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If an equilateral triangle of side length
k cm consists of exactly 121 equilateral
triangles of side lengths 1 cm, find k.
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If A, B and C finish running the

same distance in 3, 4 and 5 minutes
respectively, then A’s speed : B’s speed :
C’s speed =20 : 15 : s, find s?
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If ABC + ABC + ABC = BBB, where
A, B and C are distinct positive integers,
find 4+ B+ C.
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ABCD is a square and GCD is an
equilateral triangle. E is a point on AB
such that ZEGD = 90°.

Find%—l.
A D
E°
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Given f(x) = 4x” + bx — 49 and
Sx) = f=x), find fi4).
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Given a sequence 0, —1, 4, -9, x, 25,
find x.
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Find the maximum value of
2sin’0 — 8sind + 7.
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Find the coefficient of x in the expansion
of (1 +2x)’(1 + 3x)*.
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Use 4 distinct nonzero digits to form 24
4-digit numbers. Arranging in ascending
order, the 2™ is a multiple of 5, the 23"
is even but not divisible by 4 and the
difference of the 5" and 20" is between
3000 and 4000. Find the sum of the

digits of the 24",
A

Given that y « % If x is increased by

25%, find the percentage decrease in y.
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The length and width of a cuboid are
both increased by 10% and the height
remains unchanged, find the percentage
increase in volume.

If tand = — %, then

Find k.

2sind —3cosAd _ k
3sind — 2cosA ~ 23"
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In the diagram, ABED and AFCD are
parallelograms and the area of ABED is
36. Find the area of AGEF.
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Find the remainder of (x + 1)(x’—3) + 1
when it is divided by x — 3.
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I£0.72 + 0.53 = 1.x, find x.

Ifa:c=2:3,b:c=5:4,
(a+c¢):(b+c)=20:x, find x.
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Find the real part of (5 + 2i)(5 — 2i).
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Given ABCD is a parallelogram,
find ZBDE.
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